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f(x) = —2.cos(e® — x°).sin(e® — x°).(2e* — 3x%)
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7. f(x) = —2.cos(2x).sin(sin(2x))
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12. f(x) = —2sin2x + 2sinx.cosx

= —2sin2X + Sin2x = —sin2x
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16. y

f(x) = sin(nx).g(x)
f(x) = m.cos(nx).g(X) + g'(x).sin(nx)
f(1) = n.cos(n).g(1) + g'(1).sin(n)
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f(x) = —4x®

g(x)

Cevap: B

Cevap: B

Cevap: D

TASARI EGITIM YAYINLARI

xy+y? 4 N

19. =
x2—xy 3

3xy +3y* =x*—xy
3xy +3y°—xX*+xy=0

Fx _ 3y—2x+y 2x—-4y x-2y
Fy ~ 3x+6y+x 4x+6y 2x+3y

Cevap: D
2_
9o, AI5X2—2x+3]
dx
d[10x—2]
o C 10
Cevap: E

[ ————— e —



